DB 1 DB 2 DTB =
1HG 2 HG .

Nr. Gruppe

DB (max 10/8, min 4/3 DB, min 4/3 DE) R (max 1)

Summe DB<4/3 | ~T DE <4/3 R W |Endwert

Unterschrift: 2022

DB 1 DB 2 DTB :E
1HG 2 HG .

Nr. Gruppe

DB (max 10/8, min 4/3 DB, min 4/3 DE) R (max 1)

Summe DB<4/3 | T DE <4/3 R W |Endwert

Unterschrift: 2022




DA1 DA 2 DTB:
The T |
Nr. Gruppe
DA (max 18/15, min 9/6 DC)
< 9/6 DC
CC/CR/ C2
Summe DC Grund-GT je-0,3 Endwert
Unterschrift: 2022
DA1 |DA2 DTB:
1HG 2 HG
Nr. Gruppe
DA (max 18/1, min 9/6 DC)
< 9DC
CC/CR/ C2
Summe DC Grund-GT je-0,3 Endwert
Unterschrift: 2022




